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QUESTION 1

What does the + symbol mean in the following grep regular expression: grep \\d[aei]\+d$\\' /usr/share/dict/ words
A. Match the preceding character set ([aei]) one or more times.

B. Match the preceding character set ([aei]) zero or more times.

C. Match the preceding character set ([aei]) zero or one times.

D. Match a literal + symbol.

Correct Answer: D

The answer should be "Match a literal + symbol" because there is a backslash symbol before the plus, so it should
match a literal +.

QUESTION 2

Identify the proper device for the third partition, on the second hard disk, on the first IDE controller on a PC system.
A. /dev/hdb3

B. /dev/hd1b3

C. /dev/hdc1b3

D. /dev/hdc1d2p3

Correct Answer: A

Harddisk Recognization Primary Master /dev/hda Primary Slave /dev/hdb Secondary Master /dev/hdc Secondary Slave
/dev/hdd According To question, Device name is /dev/hdb and paratition number is 3. / dev/hdb3

QUESTION 3

Which of the following commands will load a kernel module along with any required dependency modules?
A. depmod

B. insmod

C. modprobe

D. module_install

E. loadmod

Correct Answer: C

LCP-001 PDF Dumps | LCP-001 Study Guide | LCP-001 Braindumps 2/3


https://www.leads4pass.com/lcp-001.html
https://www.leads4pass.com/lcp-001.html
https://www.leads4pass.com/lcp-001.html

https://lwww.leads4pass.com/lcp-001.html

L eads 4 PHSS 2024 Latest leads4pass LCP-001 PDF and VCE dumps Download

QUESTION 4
The command mkfs -t ext3 /dev/hdbl -T largefile creates what size of inode?

A. 4 kilobyte

B. 1 megabyte

C. 2 megabyte

D. 4 megabyte

Correct Answer: B

-T fs-type : Specify how the filesystem is going to be used, so that mke2fs can choose optimal filesystem parameters for

that use. Some Filesystem type are: news : One inode per 4kb block largerfile : one inode per megabyte largerfile4 : one
inode per 4 megabytes

QUESTION 5

What umask value will result in the default access permissions of 600 (rw------- ) for files and 700 (rwx ------ ) for
directories? (Provide only the numerical umask value)

A. 0077

Correct Answer: A

LCP-001 PDF Dumps LCP-001 Study Guide LCP-001 Braindumps

LCP-001 PDF Dumps | LCP-001 Study Guide | LCP-001 Braindumps 3/3


https://www.leads4pass.com/lcp-001.html
https://www.leads4pass.com/lcp-001.html
https://www.leads4pass.com/lcp-001.html
http://www.tcpdf.org
https://www.leads4pass.com/lcp-001.html
https://www.leads4pass.com/lcp-001.html
https://www.leads4pass.com/lcp-001.html

